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B (variance) : fEE
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V(X) = E{(X - E[X])*}
REXDANTAELOTNELHD
V(X) = E{X? - 2XE[X] + (E[X])?*}
= E[X?] - (E[X])?
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V(X +c¢)=V(X)
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Vi(eX) =c*V(X)
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Z 4 {7 &= (standard deviation) : 28X D EHIE

D(X) = /V(X)
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r R DFEEE(moment):
pr = E[X7]
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vy = E{(X = E[X])"]
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Mx(t) = E[etX]=¢{ *

/ et f(x)dx
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tX _ - (tX)? (tX)*
S TR T
g(t) =€
== 3 (T) _ r tX
wAD I EE RN, g (t) =X"e
X g\"(0) = X"
Mx (t) = Ele*"]
E[X*? E[X3
= B+ tEx) + 2 2R P
2! 3!
_ 2 2 3 U3
=1l4ipm +1750 +1 T

oy = E[XT]



REFHEREREREES)

MmiAzxMan 9 nlE

F

Mx(t) =1+ ut+ ’;?# + §?t3+
Mic(t) = ju + pat + 5ot + T2+
MY (t) = pg + pst + g‘fﬁ - gftS + -
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A Vie)=0
B) V(X 4+¢) =V(X)
C) V(eX) =V (X)
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V(X) = E[X?] — (E[X])* = p2 — p1
ERITCEMNTES.

EEx(RRBEYD)/REZRHWNTERE.
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